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ERGREE 68288 0.034 0.038 — i
mIRE 68288 0.063 0. 056 - &
HT-ITRBEE 68288 0.048 0. 056 — i
BERT R B P 1A5H 0.054 0.048 — i
mEREM 1A5H 0.047 0.034 — i
SRAREM 1A5H 0.068 0.061 - &
EAAXHAREE 1A5H 0. 058 0. 051 — i
HEE_RBEE 1A5H 0. 040 0.034 — i
FHERAEM 1R4H 0. 040 0. 050 - =
CELDRRBE 1A5H 0.047 0.045 — i
IEREM 1A5H 0. 036 0.028 — i
MY REE 1A5H 0. 040 0.032 — i
ATTREER 68288 0.072 0.083 - &
CESETR/RRBEE| 6A28H 0. 035 0.055 - &
=RZEBLE 68288 0. 045 0.042 — i
CESZFIRREE| 6A28H 0. 065 0.062 — i
ERREM 68288 0. 046 0.045 — i
IREERBFR 1R4H 0.048 0.035 - =
K HHGREE 1R4H 0. 031 0.034 - =
ZFLOAPREER 1A5H 0. 058 0. 060 — i
REF HEREERE 1A5H 0.054 0.059 — i
PERB 68298 0.025 0.030 - &
F_L5HHREER 68298 0. 045 0. 050 — i
ZBREHE 68298 0.070 0. 065 — i
HERBEE 68298 0. 050 0. 060 — i
E_HEREE 68298 0.063 0. 065 — i
FAFREM 68298 0. 030 0.035 — i
BrAFPERE 68298 0. 050 0.045 — i
ERE—H4 MRBEE| 6H29H 0. 041 0.039 — &
BEROCxyvXRERE| 6H28H 0.032 0.036 - &
EHREM 68298 0.032 0.035 — i
LoZIXEREE 68298 0. 030 0.029 — i
HTLIRBEE 1R4H 0. 049 0.047 - =
F_GTLIRER]| TA4H 0.039 0.038 - =
F=HTLIRER| TA4H 0.039 0. 050 - =
ARREM 68288 0.015 0.045 — i
Hho LROE 68298 0.018 0.018 — i
EINZELE 68288 0. 052 0.061 — i
FEZELE 1R4H 0.048 0.043 - =
ILIEYHEE 1A5H 0. 036 0.043 — i
BEZELE 1R4H 0.029 0.032 - =
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